
 

(c) 

(d)  s’(10) = 160 – 32(10) = 160 – 320 = –160 smashes at –160fps (neg. since it’s going down)  



 



 

15.   b) ∫   (       )(           )     

 

=   
𝑥4

 
  

𝑥 

 
  

𝑥−1

  
  𝐶    

 

 
𝑥4   𝑥   𝑥−1  𝐶  =    

𝟏

𝟐
𝒙𝟒  𝟐𝒙𝟑   

𝟐

𝒙
 𝑪 

14.  ∫
𝑥5+ 𝑥4−1

𝑥2
 𝑑𝑥  =     ∫  

𝑥5

𝑥2
 

 𝑥4

𝑥2
  

1

𝑥2
  𝑑𝑥  =     ∫(𝑥   𝑥   𝑥− )  𝑑𝑥  

Exam 1 – Review (continued) 

 

 
𝑑𝑢 = (x  ‒   x    )𝑑𝑥 

let u = 𝑥   𝑥   𝑥    

then du = 3x2 ‒ 6x + 3  now factor out a ‘3’ 

du = 3(x2 ‒ 2x + 1)dx and divide both sides by ‘3’ 

= 8 ∗  
𝑢4

 
 𝐶 =    𝑢4  𝐶 

Now substituting:    ∫ 𝑢  ∗
1

 
𝑑𝑢 =     ∗  

1

 
 ∫ 𝑢  𝑑𝑢  

Substitute back x for u: 

𝟐(𝒙𝟑  𝟑𝒙𝟐  𝟑𝒙  𝟕)𝟒  𝑪   Answer 

0 = 𝑥 𝑥′   𝑥𝑥′  6𝑝𝑝′   𝑝′ 
0 = (  ) (.  )   (  )(.  )  6( 0)𝑝′   𝑝′ 

0 =   .   .    0𝑝′   𝑝′ 
0 = 50.     𝑝′ 
 50. =    𝑝′ 

𝑝′ =
 50. 

   
=  $0.  /ℎ𝑟. 

16.   0 =
1

 
𝑥  𝑥   𝑝   𝑝 

 


